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3iTWT& 3PlT /SPACE FOR ROUGH WORK 



1. 3l&RWtM*~m. 
(a) m, @) *, * (c) &,- ( 4  33 - 
WMJat:  
(1) Fa3 (a) $ ( 4  * (2) - @) * 
(3) 9i-W ( 4  * (4) Fa3 ( 4  4 (4 * 

2.  * * ? R u @ $ ~ ~ ~ ~ F T I ~ * ~ ? ~ I u ~  vma. 
(a) W d@ @) *-f ie i t  (c) w deit (d) 2-n TiGt 
wiet*: 
(1) w+Rl (a) a Co) * (2) WRf @) * (c) * 
(3) w+Rl ( 4  * (4) WRf @) * 

3. ' ' ~ ~ ~ ~ ~ " s r ~ ~ ~ .  
(a) (b) '3ijrn (c) -@lJll (4 ~ e f  
m*: 
(1) (a) M+Jl (4 * (2) (a) M+Jl (c) * 
(3) T+m @) * (4) ( 4  * 

5.  p?af3w3w*jmm. 
(a) Mmf8;mmaiir. @) ~ M w ~ r n .  
(c) ~~~~~. 
d*: 
(1) - (b) jfifbl ( 4  ?? (2) WRf @) * 
(3) (a) jfifbl (c) - (4) wd f3* m 

- - 

6. * R d m .  
(a) m , m ~ m ~ , * $ d & .  
@) d t W i x T 3 4 3 m .  
m*: 
(1) (a) 4 @I* (2) WRf (a) * 
(3) - @) * 

-- 
(4) (a) @) +3 ?? 
-- -- 

3FZ4l TilWfid jrmr /SPACE FOR ROUGH WORK 
P.T.O. 



7. ~ ' E i f q m ~ .  

(a) ;nsnd+m8m6 
(b) m&+wm+r+tmf?+fdmrE@m;rmsTam. 
(c) * ~ ~ m m f ? + f ~ ~ m - m q m , ~ ~ .  
(d) ~ , ~ , ~ ~ ~ i t e l m , m r ~ ; r m s T a m .  
m*: 
(1) - (a) * (2) m3 (b) 4 ( 4  * 
(3) (4 * (4) - (b) 4 (4 * 

-- --- -- 

8. @ e n f m r m m m ~ m * .  
(a) ftmrr, W:, (b) R Tmml 
(c) *! w. 3W-b (d) *, m 9  - 
md: 

- - - - 

9, *f8+lm. 
(a) mdRlf3temth. (b) e m ~ d m .  
(c) m d m 9 i g o f l 8 T .  

V4EitTmt: 

10. * - f i ~ W r ~ ~ ~ 8 ~ .  

(a) q-+m='3- (b) Tji:+iln(=T3itrJol 

(c) 9;1:+m=s;itm (d) m+==- 
V 4 f d t d :  ' 

(1) - (a) q (b) * (2) - @) 3 (4 * , 

(3) = (a) 3 ( 4  * - (4) - (b) q (dl * 
- 

11. $ b W t r n M m ~ ~ ~ ?  
(1) R,*,m (2) W, m, * 
(3) *, b, & (4) F, -, +K 

-- ---- A - 

W W U d  3PT /SPACE FOR ROUGH WORK 



12. ' r n?W~,  ~ ~ + w * v s a ~ . '  
s r w a w ? m n a - c i t r s ~ h .  
(a) * F (b) h 5F 
(4 @=Ed (d) m*&l 
m*: 
(1) - (a) 4 (b) * (2) - (4 4 (4 * 
(3) w H  (a) 9 (4 * (4) (a) * 

13. -fmm'8YRbIhw. 

(a) w (4 * 
@) - (4 * 
(c) * (iii) meij 

(4 fCk (iv) & 
m*: 

(a )  (b) (4 (4 
(1) (i) (ii) (iii) (iv) 
(2) (ii) (i) (iv) (iii) 
(3) (iii) (i) (iv) (ii) 
(4) (ii) (i) (iii) (iv) 

14. W S 9 H l ~ % i % h h & 3 G f I 4 ~ ~ i % C ? J .  

(a) - (b) - (c) - (d) - 
m*: 
(1) (a) 4 (b) * (2) (c) 4 (dl * 
(3) %@) 4 (4 * (4) - (a) 4 (4 * 

is. aGRf&wqup4hmdd? 
' s r ~ r n r m ~ ~ m & 3 d ~  w d  &*ma a&.' 
(1) m i  (2) * (3) hk fs (4) h* 

16. ' f i 3 7 R T V d . '  ~-d4&&3GfI. 
(a) &-d,#-d (b) @-wi,?,Tr%rm-d 
(c) mWil-mif,#-d (d) &-TfiTf,?Wm-d 
m*: 

S=E4T S ' P T d  /SPACE FOR ROUGH WORK 
P.T.O. 



17. ' W F & ~ T F ; I & ~ F W % F T ~ @ ~  

r n 3 ~ r m ~ ~ ~ ~ * '  
T3-3 *l~U.miaiti ?wTdi *. 
(1) + (2) FR-m (3) Hnlm 

- 

(4) * 
IS. f q i l ~ h - e i q ~  rn M m 

(a) m d d h r l ~ ~ ~ ~ m ~ , * r i t e  
(b) 3it*Q+mmd? ?i lmzqwJTmrn~rn. 
(c) ritrnd,'@9ej?=?qrnl' 
(d) * % F K F ~ , v ~ ~ * ~ .  
*d: 
(1) Vim (a) q (b) * (2) Vim (a) 3 (4 * 
(3) (c) a (4 * (4) TEfa (b) (4 * 

19. ~k*dWT4hWhf i cm.  
(a) ~,ei,?,~t*d U f .  (b) Y,KT, gl * ditia d nf. 
(c) Y,?,FI,B*~**. 
*d: 
(1) . TEfa (a) * (c) * (2) TEfa (a) * (b) * 
(3) TEfa (b) * (c) * (4) (a), (b), (c) t M 3 * 

20. x m R a - 4 m a ; l m - h * d &  =mm. 
(1) * uQ? (2) +la *it (3) * (4) q ? l f &  -tirit 

21. '*Vr3**.'91--: 
(1) * (2) Vr3* (3) *Vr3 (4) - 

22. ' * f ;? ! js*m7ddhmsi . '  4 1 ~ R ~ f 4 ~ ? i r n ?  
(1) ? ! j s * i Z  (2 )  - (3) *, * f; (4) 

23. ' ~ ~ ~ ' + I 7 ' 4 1 ~ - r h r q ~ f i a s I .  
(a) kmhdt*$m. 
@) ~ 3 i r f t ~ h ? i l i i t V i R m d .  
(c) ~ w w ? r a T m ~ ~ .  
VgFitd: 

(1) TEfa (b) * (c) * (2) = (a) * 
(3) (a) * (b) * (4) - @) * 
d /SPACE FOR ROUGH WORK 



24. h * ~ .  
(a) -- (4 * rn 
@) -l%'wl ( 4  * * 
( 4  - l%'wl (iii) m* 
( 4  'I-* lwlm (iv) 
m*: 

(a) (b) ( 4  (4 
(1) (iii) (iv) (ii) (i) 
(2) (iii) (i) (iv) (ii) 
(3) (iv) (ii) (iii) (i) 
(4) (iv) (iii) (i) (ii) 

26. h-m. 
(a) - m 
@) m M  
(c) 3- ?l=z 

(4 - ?l=z 
m*: 

(a) (b) (4 
(1) (iv) (iii) (i) 
(2) (ii) (iv) (iii) 
(3) (i) (ii) (iii) 
(4) (ii) (iii) (iv) 

(1) m 
(ii) zif%l+ 

(iii) arm;it 
(iv) %mhmft 

27. @hfidvh3m%. 

(a) wmWimBmndmhm. T 

(b) ~~~~~~~~. 
(c) w m W i ~ ~ ~ m m ~ ~ m .  **: 
(1) Wm @) * (2)  - (a) afiJI (t) 
(3) Wm (a) afiJl (4 (4) (a), (b) afiJI (4 * 

5 E S l l  S P i I ? d  WlT /SPACE FOR ROUGH WORK 
P.T.O. 



28. S I q 7  3 F F d  b. 

(a) (b) - (c) -em; (d) * 
m37k: 

31. *m. 
(a) m 
(b) WFm m 
(4 - Y R  

(d) a w  YR 

m37k: 
(a) (b) (4 

(1) (iv) (iii) (ii) 

(2) (iii) (iv) (i) 
(3) (ii) (iii) (iv) 

(4) (iii) (ii) (i) 

(ii) w, m, * 
(iii) &Ti, TW, W, 

(iv) a,$, m, m, 3, 9 

(4 
(1) 

(ii) 

(4 
(iv) 

32. mmdw. 
(a) h m m 3 ~ q ~ f B h m d .  
(b) h ~ ~ ~ ~ .  
(c) 3 d , ? I ; f M * .  ~~~. 
m*: 
(1) , (a) 4 (4 mj (b) 9F (2) (b) 4 (c) *, (a) TF 
(3) (a) 4 (b) *> (4 Tii (4) (a), (b) 4 (4 * 
'cfimTTllijt 3lT /SPACE FOIi ROUGH WOIiK 



33. hq-zm. 
(a) s ~ m o r ~ r m ; m ; d m ?  (i) ~mneif &GI 

(c) 3 am TvJlmKi a it m. (ii) *eit 7 X - h  

(d) ~ g ~ m r * i % m ?  (iv) 3- &GI 
m*: 

( a )  (b) (4 (4 
(1) (iii) (i) (iv) (ii) 
(2) (ii) (iii) (i) (iv) 

(3) (i) (iv) (ii) (iii) 

(4) (iv) (i) (iii) (ii) 

34. qh *. 
(a) **M-*fai9mi: 
@) rnmh*-*faiglqi: 

(c, * 3 a r F m r * - m m  

(d) mT%md~~r~iiF3-m+6m 

m*: 
(1) - (a) ?i (4 *> @) (4 ?? 
(2) - @I, (4 T (dl *, (a) ?? 
(3) m a  @) $ (4 *, (a) (c) ?? 
(4) (4, @) 4 (4 *, (c)  

35. q*m? 
(a) m b h T - m m & * .  
@) -bhT-mmfM$r?i. 
(c) ~ * - ~ 3 7 g ~ l l ~ .  

(d) ~ w h i ' m - * ~ m m m .  
d*: 

(1) w a  (a), @) T (c) *, (d) ?? (2) (4 21 (4 *, (a) a @) ?? 
(3) (a) * I  @I, (4 (4 ?F (4) ( a), (b), (4 (4 * 

T W  /SPACE FOR ROUGH WORK 
P.T.O. 



39. ' * ' 4 1 ~ m ~ 3 h ? I ? V q F q m .  

(a) m $ m & m q ~ .  
(b) + ) h ~ ~ ~ 3 T F l d l .  
(c) T m M M d .  
(dl Tm -. **: 
(1) wfa (a) $ (b) * (2) wfa (4 $ (4 * 
(3) V;iR (4 (4) -ma (a) 4 ( 4  

40. h&iZlVFTI.  

(a) fimr (i) 3-a 
(b) * (ii) W+ 

(c) $%I (iii) '41f9it 
(4 * (iv) 

ma+?: 

(a) (b) (4 (dl 

(1) (ii) (iii) (i) (iv) 
(2) (iii) (i) (iv) (ii) 
(3) (iv) (i) (iii) (ii) 
(4) (iv) (i) (ii) (iii) 

3 T T  /SPACE FOR ROUGH WORK 



s r 3 k f k h ' * M ' - c r r ~ ~ p f ~ * h .  

(a) (b) T-4 &ed 
(c) XTZTJll d dhV 37lT? (d) 47hWPII 

* d :  
(1) w+3 (4 "I (4 * (2) - (4 "I @) * 
(3) - (4, @) "I (4 * (4) (4, (b), (4 "I (4 * 

- 

42. ~ 3 T l f b l T T W 3 T k ' l - c h r s & Z 4 l ~ .  

(4 @=@? (i) ~ m ~ m  & 
@) *m (ii) & 
(c) mqgml (iii) 

(4 * (iv) & 
* d :  

(a) (b) (4 (4 
(1) (iv) (i) (ii) (iii) 
(2) (iii) (ii) (i) (iv) 
(3) (ii) (i) (iv) (iii) 
(4) (ii) (iv) (i) (iii) 

44. ?-lwqml-chrsmm**. 
(a) mmhmm-~llgolm 
@) m m i o i M m - = M  
(c) ~ m i . o i M m - ~  
(d) ~ m T l i f i i t ~ ~ - ~  
rnd: 
(1) w+3 (a) "I (4 * (2)  - (a) "I @) * 
(3) (b) * (4) (4 (4 * 
W4Fd rirrm /SPACE FOR ROUGH WORK 

P.T.O. 



TIFIT /SPACE FOR ROUGH WORK 



46. +mawr&mft+Fmbmihw@&a? 

(a) -WM?~ @) ~~~~w 
white: 

(1) (4 *, @I ?F (2) (a) 3 @) 

(3) wfa (a) * (4) @) * 

48. ~ ~ ~ n 4 ~ ~ m m ~ ~ a w u w 3 ~ ~ ?  

(a) m*m @) ml?iWamJIF~~.itZmr 
(c) ~~* 
Psfdtrmt: 

(1) (4 $ (4 * (2) @I 3 (c) * 
(3) (a) 3 @) * (4) (a), @) 8 (4 F 

49. m*m. 
(a) ~ W ; m d i ? i f i ~ d ~ ~ .  

@) r n m ~ m - .  
(c) m-=lfhfmmm. 
m*: 
(1)  (4, PI, (4 * (2) (a) 8 (c) * 
(3) (a) 5 @) * (4) @) 3 (4 * 

SO. ~ & d T t i I r n S n $ R h ?  

(1) &a=mmMIfiit. (2) m - *. 
(3) + m * m ~ ~ .  (4) ~ ~ ~ ~ m f l r n ~ .  

3PlT /SPACE FOR ROUGH WORK 
P.T.O. 



51. Choose the correct sentences : 

(a) If it rains, we'll cancel the match. 

(b) If it rained, we'd cancel the match. 

(c) If i t  will rain, we'll cancel the match. 
Answer options : 
(1) (a) and (c) only (2) (a) and (b) only (3) (c) only (4) (a), (b) and (4 

- 

52. Match the following : 
(a) Cut a figure (i) To have little or no effect 
(b) Cut no ice (ii) To interrupt someone 
(c) Cut across (iii) To take a shorter way 
(d) Cut in (iv) To produce effect 
Answer options : 

(a) (b) (c) (dl 
(1) (iv) (i) (iii) (ii) 
(2) (i) (iv) (iii) (ii) 
(3) (i) (iii) (iv) (ii) 
(4) (ii) (iii) (i) (iv) - 

53. Find out the incorrect sentencefs : 

(a) He was as white as a sheet. 

(b) It was more expensive than I thought. 

(c) This is the most oldest theatre in London. 

(d) She is one of the kindest woman. 
Answer options : 

(1) (c) and (4 (2) (b) only (3) @) (4 (4) (a) and (d) 

54. The report &t he has failed has surprised us all. 
Replace the underlined clause by a phrase : 

(a) The report of failure has surprised us all. 

@) The report of his failure has surprised us all. 

(c) His failed report has surprised us all. 

(d) The report that he failed has surprised us all. 
Answer options : 

(1) (a) and (b) (2) (a) (3) (b) (4) (4 and (d) 

55. Choose the correct indirect narration of the following sentence. 
IIari said to him, "I shall not come to you tomorrow". 

(1) Hari told him that he would not come to him the next day. 

(2 )  Hari told him that he would not come to him tomorrow. 

(3) Hari told him that he would not go to him the next day. 

(4) Hari said to him that I should not go to you tomorrow. 

M 3PV /SPACE FOR ROUGH WORK 



56. He could not put by anything for the rainy days. -- 

Select the most appropriate meaning of the underlined phrase in the above sentence. 
(1) save (2) collect (3) read (4) kill 

57. Give antonym of the following words. 
Lament, Scatter 
( 1  rejoice, gather (2) sad, collect (3) mourn, store (4) chaste, gay 

58. Identify adjective clause in the following sentences : 

(1) Jeffrey is the l a d  boy who stole the apples. 

(2) The whole country was sadden when Oswald assassinated Kennedy. 

(3) The teachers all agreed that the boy was innocent. 

(4) As soon as he arrives, we will have lunch. 

59. Match the following underlined words with their parts of speech. 

(a) They are men of like build and stature (i) Noun 

@) as a father pitieth his own children (ii) Verb 

(c) Children sweets (iii) Adverb 

(d) We shall not see his again (iv) Adjective 

(e) Don't talk that (v) Preposition 

Answer options : 

(a) (b) (4 ( 4  (el 
(1) (iv) (iii) (ii) (i) (v) 
(2) (iii) (iv) (v) (ii) (i) 
(3) (iv) (v) (i) (ii) (iii) 
(4) (ii) (i) (iv) (iii) (v) 

60. Match the following to fill in the blanks : 
(a) Good wlne needs no (i) Eggs 
@) Two - are better than one. (ii) Bush 
(c)  The game is not worth the (iii) Heads 
(d) Do not put all your in one basket. (iv) Candle 
Answer options : 

(a) (b) ( 4  (4 
(1) (iii) (ii) (i) (iv) 
(2) (ii) (iii) (i) (iv) 
(3) (ii) (iii) (iv) (i) 
(4) (iii) (ii) (iv) (i) 

3TQ'lFd TPlT /SPACE FOR ROUGH WORK 
P.T.O. 



' .  
! , Iclenlify th? correct scntence/s : 

(a) 1iohinsc.n~ arc: away this weekend. 

[b) Comlxiic*r.: are an important research tool. 

(c) 1 Ir shoal: with the fear. 
Answer options : 
(1) Only (a) (2) a b  (b) (3) only (4 (4) All the above 
..... 

rrZ. Fill UI the blank : 
Thr children iv~on:d all the other food and made a for the cakes. 
( 1  straight line (2) beeline (3) beehive (4) circle 

~ -. .............. .- 

3 .  Idenlify the s ~ n t e ~ ~ ~ ~ e / s  which is/are incorrect. 

(a) Neither mv mother nor my father went to University. 

(b) 1 neithrr hnow nor care what's happened to him. 

(c) They sptxik neither blarathi nor Hindi but a curious mixture of both. 

(d) I neither insultell him nor his friend. 
Answer options : 

(1) (a), (h) (2) (4, (4 (3) (b), ( 4  (4) only (d) 
. . . . . . . . .  

6Ii. Which mood is usvd in the following sentence : 
God bless you ! 
(1) Subjunclive (2) Indicative 
(3) Imperative (4) None of the above 

- .... ........... 

5 .  Identify the meaning uf underlined idiom in the following sentence : 

I-le was dressed up like a clog's dinner. 
-p 

( I )  poorly dressed (2) dressed in a traditional way 
(3) over-dressed in a showy-way (4) civil dressed 

-~ ....... .. 

I .  Discipline is on the w a B  in schools and colleges, these days. 

Identify the c!>rrecl meaning of the underlined. 
( 1  spreaciing (2) increasing (3) spirraling (4) decreasing 

.... ...-... 

$7.  Which of the following srntence/s'is/are correct : 

(a) If 1 had known that you were coming, I have met you at the airport. 

(b) If I had luiowii that you were coming, I have meet you at the airport. 

(c) If 1 had known that you wcre coming, I would have met you at the airport. 

(d) If I had known [hat you were coming, I would have meet you at the airport. 
Answer options : 

(1) ( 4  (2)  (c) (3) (a) and (b) (4) ( 4  and ( 4  
..... .. -~ 

-- c,, C ~ T  a;mrmdt Wrr /sr'ACE FOIi liOUGN WORK 



68. Choose the incorrect sentences. 

(a) Each of the candidates are well qualified. 

(b) Neither of those choices were attractive. 

(c) My family are punctual and hard-working people. 
Answer options : 

(1) (a) only (2) (a) and (c) only 
(3) (a) and (b) only (4) (a), (b) and (c) 

69. "You should take the job, Frank.  Said Lee. 
Select the most appropriate indirect narration of the above sentence. 

(1) Lee said that Frank should take the job. 

(2) Lee suggested that Frank should take the job. 

(3) Lee encouraged Frank to take the job. 

(4) Lee said to Frank that he should have taken the job. 

70. Identify the sentence/s having noun clause, in it/them.. 

(a) The problem is who will bell the cat. 

@) Who stole the diamond is a mystery. 

(c) The boy who sang a song is my brother. 
Answer options : 

(1) Only (a) and (c) (2) MY (4 
(3) Only (a) and (b) (4) MY (b) and (c) 

71. Choose the correct sentence : 

(a) Leap years that have 366 days contain an extra day in February. 

@) Leap years, which have 366 days, contain an extra day in February 
Answer options : 

(1) (a) only (2) (b) only 
(3) Both (a) and (b) (4) None of the above 

- - --- - ---- - ... - - - - 

72. Give antonym of the following words : 
Convex, famous, Kernel 
(1) curved, known, officer (2) concave, obscure, shell 
(3) dusk, gloomy, attack (4) stale, reputed, cover 

73. Change the following simple sentence into compound sentence. 
Climbing up the tree, he plucked some mangoes. 
(a) He climbed up the tree and plucked some mangoes. 
(b) He climbed up the tree to plucked some mangoes. 
Answer options : 

(1) (a) only (2) (b) only 
(3) Both (a) and (b) (4) None of the above 

& /SPACE FOR ROUGH WORK 
P.T.O. 



74. Identify the incorrect meaning of the following word : 
Saw 
(1) to cut something 
(2) a tool that has a long blade with sharp points 
(3) to dream something 
(4) past tense of see 

75. Their shops are a by word for good value. Identify the correct meaning of the underlined 

word in the given context : 
(1) a person or thing that is well-known for a particular quality 
(2) important in showing moral values 
(3) important shop in the town 
(4) famous shop in the town 

- - 

76. Choose the words having meaning opposite to that of INTREPID : 
(a) Pusill&imous (b) Timorous (c) Timid (d) Undaunted 
Answer options : 
(1) (4 only (2) (a) and (c) only 
(3) (a), (b) and (c) only (4) (a), (b), ( 4  find (d) 

77. Identify the correct sentence/s : 
(a) The Machine Gz~nrlers was one of Robert Westall's most successful books. 

(b) Among the people invited was the mayor. 
(c) They have been playing since four O'clock. 
Answer options : 
(1) (a), (b) and (4 (2) (b) and (c) (3) MY (4 (4) (a) ( 4  

78. India stands for peace. 
That should be known to everyboTy. 
Change t h ~  above sentences into complex sentence : 
(a) India stands for peace should be known to everybody. 
(b) It should be known to everybody that India stands for peace. 
Answer options : 
(1) (a) only (2) (b) only 
(3) Both (a) and (b) (4) None of the above 

79. Fill in the blanks : 
(a) I'm a film tonight. 
(b) I'll be all day on Sunday. 
(c) I'm ask him to return my money. 
Answer options : 
(1) will see, slept, going to (2) seeing, slept, going to 
(3) seeing, sleeping, going to (4) will see, sleeping, going to 

d TIT /SPACE FOR ROUGH WORK 



80. Fill in the blanks : 
(a) If you hard, you would get a first class. 

@) If YJu two packets of detergent, you'll get a third packet free. 
(c) If you me, I would have lent you some money. 
Answer options : 
(1) study, bought, ask (2) study, bought, asked 
(3) studying, buy, had asked (4) studied, buy, had asked 

81. Give synonym of the following words. 
Obstinate, Slander, Thrifty 
(I) disease, vilification, headstrong (2) filthy, smear, sparing 
(3) hidden, thin, economical (4) stubborn, defamation, frugal 

82. Change the following sentence into passive voice : 
We saw them go out. 
(1) ~ e y  were seen gone out (2) They have seen to go out 
(3) They saw us to go out (4) They were seen to go out 

83. Spot/idenhfy the errors in the following sentence. 
I was laying down when the phone bell rang. 

(a) Rang @) Laying (c) When 
Answer options : 

(1) (a) only (2) @) only (3) (4 only (4) (41 @) and ( 4  

84. Identify the correct sentence. 

(a) 1 ' ~ ~ s  sure that I had met him before. 

@) On my last visit to Wixton I found that the village didn't change much. 

(c) She admitted that she has stolen the watch. 
,Answer options : 

(1) MY (a) (2) Only (a) and (c) (3) MY @) and (4 (4) MY ( 4  

85. Match the following : 
(a) See eye to eye (i) Willing to 
@) See one's way (ii) to become very angry 
(c) See red (iii) to make arrangements for 
(d) See about (iv) to agree completely 
Answer options : 

(a) (b) (4 (4 
(1) (ii) (iv) (iii) (i) 
(2) (iv) (iii) (ii) (i) 
(3) (iv) (i) (ii) (iii) 
(4) (i) (iv) (ii) (iii) 
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86. Choose the words having similar meanings : 
(a) ADIPOSE (b) OLEAGINOUS (c) FA'TTY 
Answer options : 

(1) (a) and (b) only (2) (a) and (c) only 
(3) (b) and (c) only (4) (a), @I and (4 

87. Identify the correct sentence/s : 
(a) The scissors are blunt. 

(b) Statistics was always my worst subject. 

(c) The economics behind their policies are unreasonable. 

(d) The governing party usually do bad in mid term by-elections. 
Answer options : 

(1) Only (a), (b), (4 (2) Only (b), (c), (4 
(3) Only (a) and (c) (4) All the above 

88. Fill in the blanks. 
(a) His excuses, were not convincing, angered his sister. 
(b) I made the dress I intend . 
(c) The organisers invited entries did not exceed 1000 words. 
Answer options : 
(1) since, to wear, that (2) which, to wear, that 
(3) because, wearing, that (4) which, wearing, that 

89. Match the following : 
(a) Fratricide (i) Too strong to be defeated 
(b) Numismatics (ii) Repeating the actual words exactly 
(c) Verbatim (iii) The study of coins 
(d) Invincible (iv) The act of murdering one's brother or sister 
Answer options : 

(a) (b) (4 (dl" 
(1) (i) (ii) (iii) (iv) 
(2) (iii) (iv) (ii) (i) 
(3) (iv) (iii) (ii) (i) 
(4) (iii) (iv) (i) (ii) 

90. Identify the correct sentence from the following sentences. 

(a) Is there enough cake for everyone ? 

(b) I have enough had of your excuses. 

(c) I don't think he is really experienced enough for this sort of job. 

(d) I hope my instruchons are clear enough. 
Answer options : 

(1) (41 (b) (2) (b), (4 (3) (4 ,  (4, ( 4  (4) (a), @I, (4 
- -- - -- 
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91. Fill in the blanks in the responses to the given questions : 

(a) You haven't met my brother, have you ? 

I haven't. 

@) You can swim well, can't you ? 

-- I can't. 

(c) There is nothing more to be done, is there 7 

there is. 

Answer options : 

(1) Yes, yes, no (2) No, no, yes (3) No, yes, no (1) Yes, no, no 

92. The eldest son worked on the farm, the second son worked in the blacksmith's shop. 
the youngest son left home to seek his fortune. 

Choose the most appropriate alternative to complete the sentence. 

(1) Yet (2) and (3) but (4) then 

93. I feel guilty today because I've not paid you that cheque. 

Identify the underlined clause in the above sentence. 

(1) Noun clause (2) Adjective clause (3) Adverb clause (1) Main claus~* 

94. choose the correct sentences : 

(a) Can you tell me why are you late ? 

@) Do you think does your name indicate your personality ? 

(c) Do you think you can mention social work and oceanography together ? 

Answer options : 

(1) (4 only (2) (a) and (c) only (3) @) and (c) only (4) (a), (b) and (cj 

95. Change the following sentence into indirect speech : 

He said, "The horse died in the night". 

(1) He said that the horse died in the night. 

(2) He says that the horse died in the night. 

(3) He said that the horse was died in the night. 

(4) He said that the horse had died in the night. 
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Read the passage given below carefully and answer Question numbers 96 to 100 based on 
it. 

Dilip Chitre (b. 1938) was educated in Baroda and Mumbai. He has been a teacher, 
painter, film-maker and magazine columnist. A winner of the Sahitya Akademi Award, Chitre 
has lived and taught in Ethiopia and the USA and was invited to participate in the Iowa University 
International Writing Programme. He is a bilingual writer and writes mostly in Marathi. His 
major translations (from Marathi into English) include An Atrthology of Marathi Poetry, (1945- 
1965) and Says Tuka (1991). Travellirrg itr a Cage (1980) is his first and only book of English 
poems. Exile, alienation, self-disintegration and death are the major themes in Chitre's poetry. 
It belongs essentially to the Modernist Movement, as it reflects cosmopolitan culture, an urban 
sensibility, uses oblique expressions and ironic tones. 

'Father Returning Home', selected from Travelling in a Cage, is a deftly drawn word 
portrait of a commuter and his dull, drab and exhausting daily routine. Forced to return to 
stale food and painful isolation at home, the pathetic old man has no choice but to talk to 
himself. He is delinked from the present, including his family, and can only co&unicate with 
the buried past and unborn future dreaming about his ancestors and grandchildren. 
Characteristically, the poem is totally devoid of sentimentality despite its tender subject. The 
evocative imagery, subtle irony and the symbolic projection of the commuter as a modem nomad 
are the major devices which reinforce the theme of man's estrangement from a man-made 
world. 

96. Match the following : 

(a) (b) 
(a) alienation (i) uprooting 

(b) drab (ii) nomad 

(c) commuter (iii) estrangement 

(d) exile (iv) dull 

Answer options : 

(a) (b) ( 4  (dl 

(1) (iv) (ii) (i) (iii) 

(2) (iii) (iv) (ii) (i) 

(3) (ii) (iii) (i) (iv) 

(4) (i) (ii) (iii) (iv) 

97. Dilip Chitre's poetry deals with 

(a) isolation (b) uprooting (c) death (d) nature 

Answer options : 

(1) (a) and (b) (2) (b) and (c) (3) (dl (4) (a), (b) a-td (c) 
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98. Dilip Chitre's poetry has following features : 
(a) indirect expressions. 

@) expression of experiences of different cultures 
(c) man-woman relationship 
(d) lack of sensibility 
Answer options : 

(1) (a) and (c) (2) (a) and (4 (3) (a) and (b) (4) (c) and ( 4  

99. The poem 'Father Returning Home' is a word picture of . 
(a) city workers drudgery (b) traveller's dreams 
(c) urban man's isolation (d) . None of the above 
Answer options : 

(1) (a) and (b) (2) @) and (c) (3) (a) and (4 (4) (dl 

100. Which of the following are not hue about Dilip Chitre ? 

(a) He was educated at Baroda and Mumbai. 

@) He lived and taught only in Ethiopia. 

(c) He is a post modem poet. 

(d) His only book of English poems is Travelling in a Cage. 

(e) He writes in two languages : English and Hindi. 
Answer options : 

(1) (b), (c) and ( 4  (2) (a), (c) and (dl (3) (a), (b) and (4 (4) (a), ( 4  and (el 
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